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BCM-204 

Advanced Accounting / mPprj ys[kkadu 

Bachelor of Commerce (B.Com-17) 

Second Year, Examination, 2019 

Time: 03 Hours      Max. Marks: 80 

 
Note: This paper is of Eighty (80) marks, divided into 

two (02) sections A and B. Attempt the questions 

contained in these sections according to the detailed 

instructions given therein. 

SECTION A / ¼[k.M&d½ 

(Long-Answer-Type Questions)  

¼nh?kZ mRrjksaa okys iz”u½ 

Note: Section 'A' contains five (05) long-answer-type 

questions of fifteen (15) marks each. Learners are 

required to answer any three (03) questions.  

                                                                         (3×15=45) 
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1. What journal entries are made in the books of the 

Head Office to incorporate the trail balance of an 

independent branch? 

iz/kku dk;kZy; dh iqLrdksa esa ,d LorU= “kk[kk 

ds ryiV dks lekesfyr djus ds fy, tuZy esa 

dkSu ls ys[ks fd;s tkrs gSa\ 

2. What is over subscription? Explain the accounting 

procedure related to over subscription. 

vf/k&vfHknku ls vki D;k le>rs gSa\ 

vf/k&vfHknku ls lEcfU/kr ys[kk fof/k le>kb,A 

3. Briefly describe the various methods of valuation 

of shares of a joint stock company. 

la;qDr LdU/k dEiuh ds va”kksa ds ewY;kadu dh 

fofo/k jhfr;ksa dk laf{kIr o.kZu dhft,A 

4. Bharat Coal Co. took a coal mine on lease from 

Raghav Coal Co. For 20 years from Jan. 1, 2013 

on a royalty of 80 Paise per ton. The minimum 

rent was fixed at  10,000 per annum with power 

to recoup short working over the first four years of 

the lease.  The output was as follows: 

Hkkjr dks;yk da- us jk?ko dks;yk da- ls ,d [kku 

20 o’kZ ds fy, 1 tuojh 2013 ls 80 iSls izfr 

Vu vf/kdkj “kqYd dh nj ls iV~Vs ij yhA 

U;wure fdjk;k 10]000 #i;s fu/kkZfjr gqvkA 

y?kqdk;Z dh jkf”k dks iV~Vs ds izFke pkj o’kks± esa 

olwy djus dk vf/kdkj r; gqvkA mRiknu bl 

izdkj jgk% 
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Year o’kZ 2013 2014 2015 2016 2017 

Production 

Tonnes 

mRiknu 

Vu 

4,000 75,00 15,000 20,000 30,000 

You are required to prepare the necessary 

accounts in the books of the lessee. 

iV~Vsnkj dh iqLrdksa esa vko”;d [kkrs rS;kj 

dhft, 

5. A,  B and C are partners who share profits and 

losses in their capital ratio. Partners have right to 

withdraw  6000,  5000 and  4000 respectively 

out of their profits. If any partner withdraws 

more, it is treated as an advance. On this amount 

partners will have to pay interest @ 6% p.a. B, 

gets  300 p.m. as salary. Interest on capital will 

be given @ 5% p.a. on the balance of capital in the 

beginning of the year. In the beginning of the year 

the capital of the partners and credit balance of 

current account and amount of drawings during 

the year were as follows: 

 Capital Current a/c Bal. 

(credit) 

Drawings 

A 80,000 2,304 10,000 

B 60,000 3,728 12,000 

C 40,000 1,152 5.000 
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The profit of that year was before adjustment of 

interest on capital and salary  30,096. You are 

required to prepare P&L adjustment account and 

Partner’s current accounts 

,] ch vkSj lh lk>snkjksa gSa tks viuh iw¡th ds vuqikr esa 

ykHk&gkfu ck¡Vrs gSaA lk>snkj dks Øe”k% 6]000 :i;s 

5]000]#i;s 4000 :i;s vius ykHk esa ls fudkyus dk 

vf/kdkj gSA ;fn dksbZ lk>snkj blls vf/kd vkgj.k djrk gS 

rks og jkf”k vfxze ds :i esa ekuh tk;sxhA bl jkf”k ij 

lk>snkj dks 6 izfr”kr izfro’kZ C;kt nsuk gksxkA ch dks 300 

:i;s izfr ekg osru Hkh izkIr gksrk gSA o’kZ ds “kq: esa tks 

iwath dk “ks’k gksxk ml ij 5 izfr”kr izfro’kZ dh nj ls C;kt 

fn;k tk;sxkA o’kZ ds izkjEHk esa lk>snkjksa dh iwath  vkSj pkyw 

[kkrs ds ØsfMV “ks’k ,oa o’kZ ds nkSjku vkgj.k bl izdkj gSa% 

lk>snkj iwath Pkkyw [kkrs dk “ks’k 

¼ØsfMV½ 

vkgj.k 

, 80]000 2]304 10]000 

ch 60]000 3]728 12]000 

lh 40]000 1]152 5]000 

iawth ij C;kt ,oa osru ds lek;kstu ds iwoZ ml o’kZ esa 

30]096 :i;s dk ykHk gqvkA ykHk gkfu lek;kstu [kkrk ,oa 

lk>snkjksa ds pkyw [kkrs cukb,A 
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SECTION-B / ¼[k.M&[k½ 

(Short-Answer Type Questions) (y?kq mÙkjh; iz”u) 

Note: Section ‘B’ contains eight (08) short-answer 

type questions of seven (07) marks each. Learners are 

required to answer any five (05) questions only. 

uksV% [k.M ^[k* esa vkB ¼08½ y?kq mRrjh; iz”u fn;s x;s gSa] 

izR;sd iz”u ds fy, lkr ¼07½ vad fu/kkZfjr gSaA f”k{kkfFkZ;ksa 

dks buesa ls dsoy ik¡p ¼05½ iz”uksa ds mRrj nsus gSaA 

1. What are main characteristics of hire purchase 

system? 

fdjk; Ø; i)fr dh izeq[k fo”ks’krk;sa fyf[k,A 

2. Distinguish between joint venture and 

partnership. 

la;qDr miØe ,oa lk>snkjh esa Hksn crkb,A 

3. State the various types of debenture. 

_.ki=ksa ds Hksn fyf[k,A 

4. List the items recorded in debit and credit sides of 

voyage account. 

leqnzh ;k=k [kkrs ds MsfcV ,oa ØsfMV i{k dh 

enksa dk mYys[k dhft,A 

5. Give a specimen of revenue account of a general 

insurance company. 

lk/kkj.k chek dEiuh ds vkxe [kkrs dk uewuk 

nhft,A 

6. What is meant by ‘goods in transist’ ? 

^ekxZLFk eky* dk vk”k; Li’V dhft,\ 



S-39/BCM-204                         6                                   P.T.O. 

 

7. From the following calculate preferential creditors 

as per Presidency Town, Insolvency Act and 

Provincial Insolvency Act. 

Item  

i. 3 months salary of 5 clerks 2000 

ii. One month wages of 10 workers 2000 

iii. 2 months rent to the landlord 2000 

iv. Municipal Tax 2000 

v. Compensation payable under 

Workmen Compensation Act 

2000 

vi. Salary to General Manager 2000 

 12000 

 

fuEu lwpukvksa ls izslhMsalh VkmUl nhokyk vf/kfu;e rFkk 

izkUrh; nhokyk  vf/kfu;e ds vUrxZr iwokZf/kdkj ysunkj 

Kkr dhft,A 

en          

(i) ik¡p DydZ dk rhu ekg dk osru 2000 

(ii)nl Jfedksa dk ,d eghus dk osru 2000 

(iii)edku ekfyd dks nks eghus dk fdjk;k   

   ns; 

2000 

(iv)uxjikfydk dj 2000 

(v)dkexkj {kfriwfrZ vf/kfu;e ds vUrxZr 

  ns; {kfriwfrZ 

2000 

(vi)tujy eSaustj dk osru 2000 

 12000 
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8. Alfa Co. Ltd. issued 5000 preference shares of 10 

each at a premium of  4 per share payable  1 

per share on application,  6 per share on 

allotment (including premium),  3 on first call 

and balance on final call. The shares were all 

subscribed and all money due was received except 

the first call money on 1,000 shares and the final 

call money on 1500 shares. 

You are required to give journal entries to record 

the above transactions. 

 

vYQk  da- fy- us 5]000 vf/keku va”k 10 :0 izfr 4:0 

izhfe;e ij tkjh fd;s& 1 :0 vkosnu] 6 :0 vkcaVu 

ij ¼izhfe;e lfgr½ rFkk 3 :0 izFke ;kpuk ij “ks’k 

vfUre ;kpuk ij ns; gksxkA lkjs va”k ;kfpr gq, rFkk 

1]000 va”kksa ij çFke ,oa 1]500 va”kksa ij vfUre ;kpuk 

ds vfrfjDr ckdh lkjkiSlk fey x;kA mi;ZqDr ysunsu 

ds vfHkys[ku ds fy, tuZy izfof’V;k¡ dhft,A 

 

****** 

 


